C:# Converting from Scientific Notation

Name:

Rewrite each problem in standard form.

1

N—r

9.88267145 x 10°
2) 1.28307204 x 10°
3) 7.49x 10
4) 378397 x 101
5) 0.0515x 10
6) 1.62028 x 10
7) 401936825 x 10°
8) 283x10°
9) 787893 x 10"

10) 695x 10°

11)  7.09609467 x 10°

12) 913 x 10?

13) 93x10?

14)  3.096873 x 10°

15 6.48x10°

16) 921 x10?

17) 4x10*

18) 49x 10!

19) 1x10

0
20) 7.28x 10
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ﬂh Converting from Scientific Notation Name: Answer Key

Rewrite each problem in standard form. Answers
1

N—r

5 6
9.88267145 x 10 . 9.882671.45

2 %< 108
) 1.28307204 x 10 ) 128,307,204

3) 7.49x 10

N 74.9

4) 378397 x 10* 4 37.8397
5 0.0515x 10 5 0.00515
6) 1.62028 x 10° 6 162.028

7 x 108
) 4.01936825 x 10 - 401,936,825

8) 283x 10" 8 28,300
9) 7.87893 x 101 9 78.7893
10) 6.95x 10° o 6.95

11 « 108
) 7.09609467 x 10 L 709,609.467

12) 9.13x 10?

12. 913
13) 9.3x 10 13, 930
14) 3006873 x 10° 1 3,096.873
15) 6.48 x 107 15, 648
16) 921 x10? 16, 921
17) 4% 10* 17 40,000
18) 49x 10 18 49
19) 1x10 10, 10,000
20) 7.28%10° 20, 7.28
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